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All questions are worth 2 points unless otherwise indicated. 

Recently at a sales meeting of the Insurance Service Company, a statement was made that there is no difference in the average whole life insurance coverage for clients in Wisconsin and Ohio. Managers decided a test of this statement should be made because the conclusion could affect the sales promotion that was being planned. To test the claim, a random sample of 25 clients was selected from Wisconsin and another sample of 35 clients was selected from Ohio. The sample was analyzed with the following results:
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It can be safely assumed that the populations are normal with approximately equal standard deviations.
Answer all questions below using the information provided above and ( of 0.05.
1) Which of the following is the correct null and alternative hypotheses?

a) Ho: (1 - (2  > 0 versus Ha: (1 - (2 < 0

b) Ho: (1 - (2  = 0 versus Ha: (1 - (2  ( 0
c) Ho: (1 - (2  < 0 versus Ha: (1 - (2 > 0

d) Ho: 
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e) None of the above

2) Which is the correct and exact sampling distribution for the statistic?  
a) Normal with mean difference = 0 and standard error = 26.6733
b) Normal with mean difference = 0 and standard error = 6.9847
c) t with degree of freedom = 58 and standard error = 26.6733
d) t with degree of freedom = 58 and standard error = 6.9847
e) None of the above

3) Which of the following is the correct critical region for the test?

a) Reject Ho if  Zstat > 1.645, otherwise don’t

b) Reject Ho if  Zstat < -1.96 or if Zstat > 1.96, otherwise don’t

c) Reject Ho if  tstat < -2.0017 or if tstat > 2.0017, otherwise don’t

d) Reject Ho if  tstat > 1.6716, otherwise don’t

e) None of the above

4) Which of the following is the correct computed test statistic? (3 points)
a) Zstat  = 1.6493
 b) Zstat  = 1.68263      c) tstat  = 1.6493    d) tstat  = 1.68263    e) None of the above

5) Which of the following is the correct decision for the test?

a) Reject Ho           b) Do not Reject Ho      c) Reject Ha      d) Do not Reject Ha
6) Which of the following is the correct conclusion?

a) Have sufficient evidence that the population means of life insurance are different
b) Not sufficient evidence that the population means of life insurance are different
c) Have sufficient evidence that the population mean difference of life insurance is zero 
d) Not sufficient evidence that the population mean difference of life insurance is 10.52
7) Which of the following is a decision error you may have committed?

a) Failing to Reject Ho when Ho is false

b) Failing to Reject Ha when Ha is false

c) Reject Ho when Ho is true
d) Reject Ha when Ha is false  

e) None of the above

8) If you want to test the equality of the variances from the two populations, which of the following is the correct test statistic to use? 
a) 24.8/27.90     b) 27.90/24.8    c) 778.41/615.04  d) 615.04/778.04   e) 66.42/54.90 
9) If the standard deviations of all the coverages cannot be assumed equal, provide the critical value that you would have used to do the test of equal means?  (3 points) 
a) 1.6772
   b)  1.6779      c) + 2.0117
d) + 2.0106
e) + 2.0017
All questions are worth 2 points unless otherwise indicated. 

Recently at a sales meeting of the Insurance Service Company, a statement was made that there is no difference in the average whole life insurance coverage for clients in Wisconsin and Ohio. Managers decided a test of this statement should be made because the conclusion could affect the sales promotion that was being planned. To test the claim, a random sample of 35 clients was selected from Wisconsin and another sample of 25 clients was selected from Ohio. The sample was analyzed with the following results:
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It can be safely assumed that the populations are normal with approximately equal standard deviations.
Answer all questions below using the information provided above and ( of 0.05.
1) Which of the following is the correct null and alternative hypotheses?

a) Ho: (1 - (2  = 0 versus Ha: (1 - (2  ( 0
b) Ho: (1 - (2  > 0 versus Ha: (1 - (2 < 0

c) Ho: (1 - (2  < 0 versus Ha: (1 - (2 > 0

d) Ho: 
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e) None of the above

2) Which is the correct and exact sampling distribution for the statistic?  
a) Normal with mean difference = 0 and standard error = 26.5669
b) Normal with mean difference = 0 and standard error = 7.14142
c) t with degree of freedom = 54 and standard error = 7.14142
d) t with degree of freedom = 54 and standard error = 26.5669
e) None of the above

3) Which of the following is the correct critical region for the test?

a) Reject Ho if  Zstat > 1.645, otherwise don’t

b) Reject Ho if  Zstat < -1.96 or if Zstat > 1.96, otherwise don’t

c) Reject Ho if  tstat > 1.6736, otherwise don’t

d) Reject Ho if  tstat < -2.0049 or if tstat > 2.0049, otherwise don’t

e) None of the above

4) Which of the following is the correct computed test statistic? (3 points)
a) Zstat  = 1.61313    b) Zstat  = 1.63389      c) tstat  = 1.61313    d) tstat  = 1.63389    e) None of the above

5) Which of the following is the correct decision for the test?

a) Reject Ho           b) Do not Reject Ho      c) Reject Ha      d) Do not Reject Ha
6) Which of the following is the correct conclusion?

a) Have sufficient evidence that the population mean difference of life insurance is zero 
b) Not sufficient evidence that the population mean difference of life insurance is 10.52
c) Have sufficient evidence that the population means of life insurance are different
d) Not sufficient evidence that the population means of life insurance are different
7) Which of the following is a decision error you may have committed?

a) Reject Ho when Ho is true

b) Reject Ha when Ha is false  

c) Failing to Reject Ha when Ha is false

d) Failing to Reject Ho when Ho is false

e) None of the above

8) If you want to test the equality of the variances from the two populations, which of the following is the correct test statistic to use? 
a) 24.8/27.90     b) 27.90/24.8    c) 778.41/615.04  d) 615.04/778.04   e) 66.42/54.90 
9) If the standard deviations of all the coverages cannot be assumed equal, provide the critical value that you would have used to do the test of equal means?  (3 points) 
a) 1.6772
   b)  1.6779      c) + 2.0117
d) + 2.0106
e) + 2.0017
Solution keys;

Form A: 

BDCCBBACC
Form B

AEECBDDCC

_1318418015.unknown

_1348988202.unknown

_1348988232.unknown

_1318388819.unknown

_1318388832.unknown

_1318388796.unknown

